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1.

CH2 = CH2 
4dil.KMnO

cold
A 5PCl

excess
 B

(A)  (B) 

(A) CH3CH2OH  CH3CH2Cl (B) CH3CHO  CH3CHCl2
(C) CH2OH CH2OH  CH2ClCH2Cl (D) CH2OHCH2OH  CH2OHCH2Cl

2.

CH3C  CH 
HCl

2mole
A 

aq.KOH

Heat
B

(A)  (B) 

(A) CH3CH2CHCl2  CH3CH2CHO (B) CH3CCl2CH3  CH3COCH3

(C) CH3CCl2CH3  CH3C  CH (D) CH3CHClCH2Cl  CH3CHOHCH2OH

3.

      
CHCl2

(A)

CHCl2

(B)

CH3

CHO3 CHCl2

(C)

ON2 CHCl2

(D)

A, B, C  D SN1 

(A) A < B < C < D (B) D < C < B < A (C) D < A < B < C (D) C < B < A < D

4.

Ph – C  CH 
2 4

2

aq.H SO

Hg 
 A 

3

2

1.CH MgI

2.H O
 B

 (B) 

(A) PhCOCH3 (B) PhCH2CHOHCH3 (C) C

Ph

CH3

CH3

OH

(D) PhCH2COCH3

5.

C –CH + HO2 5 2
16–– –CH3 O18

O16

H

Heat





:

(A) C H–– –CH3 O16

O16

  C2H5O
18H (B)  C H–– –CH3 O18

O16

  C2H5O
16H

(C) C H–– –CH3 O16

O16

  C2H5O
16H (D)  C H–– –CH3 O18

O18

  C2H5O
18H

EXERCISE-01 CHECK YOUR GRASP
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6.

O
3

2

1.CH MgI

2.H O
 A 

3POCl

Pyridine,0 C
 B

 (B)  -

(A)

CH3

Cl (B) 

CH3

OPOCl2 (C) 

CH2

(D) 

CH3

7. (A) LiAlH4 

(B) 

4

3

MCPBA 1. LiAlH
3 2

2. H O
CH CH CH A B


  

(B)  :

(A) CH3CHOHCH2OH (B) CH3CH2CH2OH (C) CH3CHOHCH3 (D) CH–CH–CH3 2

O

8. 2-

(A) HCHO (B) CH3CHO (C) CH3COCH3 (D) 
O

9.

Cl  CH2Br + CH3CHO + Mg 3H Odry ether A B


 

(B) :

(A) CHCH3

OH

CHBr2 (B) Cl

OH

CHCHCH2 3

(C) CH–CH3

OH

CHCHCH2 3

OH

(D) CH=CH2 CHBr2

10.

Ph—OH + CCl4 
KOH

(A) (B) (C) (D) 

11. 70°C CHCl3  NaOH :

(A) CHCl3 (B) 2CHCl


(C) 
2CCl (D) COCl2

12.
OH

 3CHCl KOH  

:

(A) (B) 

(C) o- (D) 
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13. (IV)  :

3

3

CH CHOH
|
CH

PBr2 I 
Mg

Ether
 II 

CH2 CH2

O  III 
HO2  IV

(A) 

CH3

CH3 CHOCHCHOH2 2 (B) 

CH3

CHCHCHBr2 2CH3

(C) 

CH3

CH3 CH     CHCHOH2 2
(D) 

CH3

CH3 CHOCHCH2 3

14. p- :

(A) CH4 + IMgO COCH3 (B) COCH3
CHO3

(C) HC3

OMgI

OHC

CH3

(D) 

MgI

COCH3CHO3

15.  RCH CHC2 OH

OH

O

   ?   :

(A) RCH CH2

C= OO

(B) R    CH RHC

C

C

O

O

O

O

CH2

CH2

(C) RCH = CHCOOH (D) 

16. :

OCH3HC3  + HBr 

(A) CH3 OH (B) CH3
Br

(C) CH3 CH3
O (D) 

17. RCOOH, H2CO3, C6H5OH, ROH  :

(A) RCOOH > H2CO3 > C6H5OH > ROH (B) C6H5OH > RCOOH > H2CO3 > ROH

(C) ROH > C6H5OH > RCOOH > H2CO3 (D) H2CO3 > RCOOH > C6H5OH > ROH
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18. p-  (I), p- (II), m- (III), (IV) 

(A) I > II > III > IV (B) IV > III > II > I (C) I > III > II > IV (D) III > II > I > IV

19.  :

(A) HI > HBr > HCl (B) HBr > HI > HCl (C) HCl > HBr > HI (D) 

20.

 
dil.KMnO4

Cold
 A 

(CHCOO) Pb3 4 B

(B) :

(A)

OH

OH

(B) 

CHCOO3

CHCOO3

(C) 

O

O

(D) 

O

O

21.  (A)

HO OH

 HSO2 4  A

(A)  
O

(B) 

O

(C) 
O

(D) 

22.

Cl CHBr3  + CH3CHO + Mg  
Dry ether

   A 
HO3

+

   B

 (B)  :

(A) CHCH3
CHBr2

OH

(B) CHCHCH2 3

OH

Cl

(C) CH–CH3 CHCHCH2 3

OH OH

(D) CH=CH2 CHBr2
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23. :

O

CH6 5 C OH + CHOH3

18
 

HSO2 4

Heat

(A) 

O

CH6 5 C OCH3

18

  H2O (B) 

O

CH6 5 C OCH3  HO2
18

(C)

O

CH6 5 C CHOH2

18
  H2O (D)  CHOCH6 5 3

18

, CO  H2O

24.

O

CCH3 CHCHCOCH2 2 2 3

OH

CHCH3 CHCHCOCH2 2 2 3

(A) LiAlH4  H+ (B) NaBH4   H+

(C) H2/ (D) 

25.  :

CH3MgBr + CHCH2 2

O

H3O
+

?

(A) CH3OH (B) CH3CH2OH (C) (D) CH3CH2CH2OH

CHECK YOUR GRASP EXERCISE -1ANSWER KEY
Qu e. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Ans . C B C C A C C D B B C D C A C A A A A C

Qu e. 21 22 23 24 25

Ans . A B A B D
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1.

Br

CH3

H
H

 + KOH 
2

N

H O

S 2


(1R, 3S)- -1 - -3-

:

(A) (1R, 3S)- -3- (B) (1S,3R)- -3-

(C) (1S, 3S)- -3- (D) (1R,3R)- -3-

2.

(I)

CHOH2

 ON2
(II)

CHOH2

   CHO3
(III)

CHOH2

      Br
(IV)

CHOH2

HBr :

(A) III > I > IV > II (B) III > I > II > IV (C) I > III > IV > II (D) I > III > II > IV

3. :

O COOCH2 5

 
4

2 3

NaBH

H O,CH OH
   is

(A) 

O CHOH2

(B) 

HO CHOH2

(C) 

HO COOCH2 5

 (D) 

COOCH2 5

4.

C
2
H

5
C  CH 3CH MgBr A 

3

1.HCHO

2.H O
 B

(B) 

(A) CH
3
CH

2
OH (B) 2 5 2

3

C H C CHCH OH
|
CH



(C) 2 5 3C H C C – CH – CH
|
OH

 (D) C
2
H

5
C  C – CH

2
OH

5.

PhCH = CH
2
 

3

2 2

ArCO H

CH Cl
 A 

4 2

2

1.LiAlH ,Et O

2.H O
 B

(B) 

(A) 

O

PhCH—CH2 (B) PhCHOH CH
3

(C) PhCH
2
CH

2
COAr (D) PhCH

2
CH

2
OH

EXERCISE–02       BRAIN TEASERS
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6. (1), 1- (II), 2- (III) 2- -2- (IV) :

(A) I > II > III > IV (B) IV > III > II > I (C) I > IV > II > III (D) IV > II > III > I

7.

(CH
3
)
3
 C–O–CH

2
CH

3
 + 

heat

(1 mole)
HI 

:

(A) (CH
3
)
3
 C–OH CH

3
CH

2
I (B) (CH

3
)
3
C–I  CH

3
CH

2
OH

(C) (CH
3
)
3
C–I  CH

3
CH

2
I (D) 3 3 2 3(CH ) C O CH CH I

|
H


 

8.

OH   
2 6

2 2 2

1. B H1. KH

2. PhCH Br 2. H O / OH
A B


 

(B) 

(A) PhO (B) PhOHO

(C) PhO

OH

(D) Ph OH

9.

CH3

H O
   + HCl   

:

(A) 

Cl

OH (B) 

OH

Cl

(B) 

Cl

Cl (D) Cl

10.

14CH–CH–CHCl2 2

O
  3CH O A 

(A) :

(A) 
14CH–CH–CHOCH2 2 3

O
(B) CHO CH–CH–CH3 2 2

14

O

(C) HO–CH–CH–CHOCH2 2 3

14

OCH3

(D) CHOCH–CH–CHOCH3 2 2 3

14

OH
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11.  

CH3

CH3

C–CH2

O
  

18
2H O

H
A


 ,  (A) :

(A) CH–C–CHOH3 2

18OH

CH3

(B) CH–C–CH OH3 2

18

OH

CH3

(C) CH–C–CH3 3

18OH

CH3

(D) CH–CH–CH OH3 2
18

CH3

12. :

(A) CH
3
CHOHCH

3
(B) CH

3
OCH

3
(C) CH

3
COOH (D) CH

3
CH

2
OH

13. 525K HI ?

(A) 

OCH3

(B) 

O

(C) 

OCHCHCH2 2 3

(D) 
O

14. CH – C CH  3 6 5– 

CH2 5

OH

 

(A) CH – C CH  3 6 5– 

O

 + C
2
H

5
MgBr [   ]  HO3

+

(B)  CH – C CH  2 5 6 5– 

O

+ CH
3
MgBr  [   ] HO3

+

(C) CH – C CH  3 2 5– 

O

 + C
6
H

5
MgBr  [    ] HO3

+

(D)  CH – C CH  3 6 5– 

CH2 5

Br

 
Alc.KOH



15. ?

CH – C CH– C – CH  6 5 2 3– 

O O

CHN2 2

Ether

(A) CHC = CH C – CH  6 5 3– 

OCH3 O

(B) CHC – CH =C – CH  6 5 3 

OCH3O

(C) CH– C – CH –C – CH  6 5 3 

CH2

OCH3 O

(D) CH– C – CH –C – CH  6 5 3 

CH2

OCH3O
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16. ?

(A) – NO
2

(B) –CN (C) –X ( ) (D) 

17.

?

(A) CH– C – OH 2 5

OH

(B) CH– C – OH 2 5

OH

(C) CH– C – OH 2 5

OCH3

OH

(D) CH– C – OCH 2 5 3

OH

18.

(CH) – C – C – (CH)  3 2 3 2

OHOH

 
dil.HSO2 4


 CH

3
COC (CH

3
)
3

(A) (CH) – C – C(CH)  3 2 3 2

OHOH2

(B) (CH) – C – C(CH)  3 2 3 2

OH

(C) CH – C – C(CH)  3 3 3

OH

(D) CH – C – C(CH)  3 3 3

OH

19. P + I
2
 AgNO

2
 HNO

2
 

?

(A) CH
3
CH

2
OH (B) (CH

3
)
2
CHOH

(C) (CH
3
)
3
C – OH (D) 

CH3

CH2 5

CHOH

20. ?

(A) 
–

3 3(CH ) CONa


 + CH
3
CH

2
Br (B) (CH

3
)
3
CBr + 

–

2 5C H ONa


   

(C)  C
6
H

5
ONa + CH

3
Br (D)  C

6
H

5
Br + 

–

3CH ON a


Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Ans . C A C D B A B B B B A B B A,B,C A,B

Que. 16 17 18 19 20

Ans . A,B,C A,B,C,D A,B,C,D B,D A,C

BRAIN TEASERS EXERCISE -2ANSWER KEY
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 (True / False)

1.

2.

3.

4.

5. 340 K NaOH CCl4 

6. NaHCO3 CO2 

7. m-

8.

  (Fill in the blanks)

1.  ........................ 

2. ........................ 

3. ........................ 

4. H2SO4 ........................

........................

5.  ........................ ........................ 

6. HIO4 ........................ ........................

7. ........................

8. ........................ ........................ 

9. ........................ 

10. ........................

(Match the column)

1. I  II 

-I ( )       -II ( )

(A) —CH3

(i) Hg(OAc) /H O2 2

(ii) NaBH4
(p ) —CH2OH

(B ) CH2

(i) B /THF2H6

(ii)H  OH2 2O ( q ) —CH3

OH

(C ) —CH3

H /H


2O
( r ) —CH3

OH

(D ) —CH3

(i) Hg(OAc) /H O2 2

(ii) NaBH4
( s ) —CH3

OH

EXERCISE–03 MISCELLANEOUS TYPE QUESTIONS
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2. I  II 

-I (  + RMgX) -II ( )

(A) HCHO (p )

(B )
CH—C—CH3 3

O
( q )  3° 

(C ) CH—CH —CH3 3—CH

O

( r )

(D ) ( s )

(Assertion & Reason)

- I - II 

(A) - I - II - II, - I 

(B) - I - II - II, - I 

(C) - I - II 

(D) - I - II 

1. -I : n-

-II : 

2. -I : p- o- 

-II : o- H- p-

3. -I : 

-II : 

4. -I : OH– C2H5O
– 

-II : 

5. -I : Br2–H2O 2,4,6- Br-CS2 4-

-II : CS2 

 (Comprehension Based Questions)

 # 1

NaOH 

Ka 

10–10 
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OH OH

   

O O

+O–H +O–H +O–H

   

OOO

Ka 

1.

(A) H2CO3 (B) 

OH

(C) CH3–OH (D) CH3–CH2–OH

2.

(A) A             A

B

P
o
te

nt
ia

l E
ne

rg
y

Progress of reaction

(B) B 

(C) A 

(D) 

3.

(A) 

+OH

(B) 

O

(C) (D) 

4. :

(A) H2CO3 > CH3–OH > 

OH

(B) 

OH

NO2 > 

OH

NO2

 > 

OH

CH3

(C) H2CO3 >

OH

  > CH3 – OH (D) B C 
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5 :

(A) NaHCO3 (B) 

(C)  NaHCO3 (D) R–O  , 
O

 

 # 2

SN2 

CH– C – CH2 3 CH– C – CH2 3

(I) (II)

O O

H

+

H

CH3 CH3

CH– C – CH2 3

(III)

O

+

H

CH3

II III 

1.

XO

CH3

CH – CH ONa3 2

CH – CH3 2OH

(A) 
OH H

CH3
OCH–2 CH3

(B) 

HCH3

OCH2CH3 (C) 

CH3

(D) 
H

CH3

2.
YO

CH2–CH3

HSO2 4

CH– CH–OH3 2

(A) 
C H2 5

(B) 

CH2 5

(C) 

CH2 5

(D) 
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3. ZCH2

CH3

CH
HO/H2

+
O18

(A) CH2

CH3

CH (B) CH2

CH3

CH (C) CH2

CH3

CH (D) 

4.

O

 PCH–ONa3

CH–OH3

 :

(A) 

OH

OCH3
(B) 

OH
OCH3

(C) (D) 
OH

5. Q
HSO2 4

CH–OH3

 :

(A) (B) (C) (D) 

 # 3

H2SO4, 

CH3

CH3 CH3

CH3C

OH OH

C CH3

CH3

CH3

CH3C

O

C
HSO2 4

Step 1:

H+

CH3

CH3 CH3

CH3

••••OH OH

CC  CH3

CH3 CH3

CH3

+

OH OH2

CC CH3

CH3 CH3

CH3

+

OH

CC
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Step 2 :

CH3

CH3 CH3

CH3

1,2-shift+

OH

CC CH3

CH3

CH3

CH3

+

••••OH

CC

CH3

CH3

CH3

CH3

–H

+O–H

CC


 
CH3

CH3

CH3

CH3O

CC

1.  CH3

CH3

CH3

C BrCH2  
NaOH

 P,  P 

(A) CH3

CH3

CH3C CH (B) CH3

CH3

CH CH CH2

(C) (D) 

2.

CC

OHOH

CH3CH3

HSO2 4  Q

Q 

(A) C CH2CH3 CH3
(B) C

OH

CHCH3 CH3

(C) (D) 

3.

HSO2 4

R  

(A)  (B) (C) (D) 
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4.
OH

OH

CH3

CH3

 
H

+

 S,

S  

A) 
C–CH3

O

(B) 

CH3

O

CH3

(C) (D) 

5.    

OH

CH—CH

OH

H

   ?

(A) 

O

C—CH2 (B) 

O

C

(C) (D) 



1. T 2. T 3. T 4. F 5. T

6. T 7. T 8. T



1. H- 2. 3. 

4. , 5. , 6. , 

7. 8. , 9. 

10. o-



1. (A) q ; B p ; (C)  r ; (D) q 2. (A) s ; (B) p ; (C)  r ; (D) q



1.  C 2.  A 3. A 4.  B 5.  A



 #1 : 1. (A) 2. (B) 3. (B) 4. (D) 5. (C)

 #2 : 1. (A) 2. (A) 3. (B) 4. (A) 5. (B)

 #3 : 1. (A) 2. (A) 3. (B) 4. (A) 5. (B)

MISCELLANEOUS TYPE QUESTION EXERCISE -3ANSWER KEY
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1. C2H5OH  5PCl   (A)  KCN   (B)  3H O

   (C)  3NH   (D) heat  (E)

2. CH3CH2CH2OH  6PBr   (A)  KOH(Alc.)   (B) HBr   (C)  3NH   (D)

3. t- ?

4. ArOR ArI ROH RI  ArOH 

5. :

(a) 

CH3

OH

    2SOCl (b) 
HC3

HC3

O

 
3

2

CH MgBr

H O


6.  :

(a) O

Ph

 HI  (b)   
4

3

OsO

NaHSO


7.  :

(a) OH 
2SOCl

Pyridine
 (b)  

2

3

Hg(OAc)

CH OH
  

4NaBH

(c)   mCPBA

8. A  B  :

CHC––CH3 2

CH3

O

 + H2O
18  H

   A, CHC––CH3 2

CH3

O

 + CH3OH 3CH ONa  B

9.

I : II : 

HC C3 –– ––CH2

CH3

Oa b

10.  SN2 

Me

H I

CH
(dextro)

6 5

    
OH

S 2N


   (A)  (stereoisomer)

..............

EXERCISE–04 [A] CONCEPTUAL SUBJECTIVE EXERCISE
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1. (A) C
2
H

5
Cl; (B) C

2
H

5
CN; (C) C

2
H

5
COOH; (D) C

2
H

5
COONH

4
;

(E) C
2
H

5
CONH

2

2 (A) C
3
H

7
Br; (B) CH

3
CH=CH

2
; (C) CH

3
CHBrCH

3
; (D) CH

3
CHNH

2
CH

3

3. +I.E.  C-

–OH H-

4. S
N
2 S

N
1 C

6
H

5
+ 

HI ArI 

5. (a) 

CH3

Cl
   (b)  

OH

CH–3 –C––CHCH2 3

CH3

6. (a) 

Ph

I

OH     (b) 

OH

OH

7. (a) Cl    (b) 

OCH3

H

   (c) 

OH

H

CH3

8. CHC––CH3 2

CH3

O

  
+H   CHC––CH3 2

CH3

O

H

   18
2H O   CHC––CH(A)3 2

CH3

18OHOH

( )

CHC––CH3 2

CH3

O

CHC––CH3 2 CHC––CH3 2

CH3 CH3

O OHOCH3 OCH3

CHO Na3 H

(CHOH)3

 

( )

9 . I : b    ;   II :  a

10. A 

CONCEPTUAL SUBJECTIVE EXERCISE EXERCISE -4(A)ANSWER KEY
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EXERCISE–04 [B] BRAIN STORMING SUBJECTIVE EXERCISE

1. (X) (Y) (Y) , Mg 

2- -2- (X)  (Y) 

 ?

2. (A) C
4
H

10
O Na 

(A) (B) C
4
H

8
 C

4
H

8
 

(C) C
4
H

9
OH  

 (A), (B)  (C)  ?

3. Ph
2
CHCH

2
OH  HBr 

4. 3- -1-  H
2
SO

4
 3- -2-

2- -2-

5.  A ( ) HI  B C  

I OH

(C)

    HI   

(A)

O
     HI     

IOH
(B)

6. (A)- CH
3
ONa (A) 14 B )

14CH––CHCHCl + CHONa2 2 3

O

      CHOCHCH––CH3 2 2

14

O

           (A)                          (B)

7. -

CH=CH2 2

HO2 C

1. HBr
2. Mg

C H CO H6 5 3 B

A

8. -

(a) 
O

  
3

3

CH MgBr

H O
A




(b) 
O

HC3

HC3

CHCHCH2 2 3 
3

3

CH MgBr

H O
A




(c) CH3CH=CH2 
mCPBA  A  2 5

3

C H MgBr

H O
B



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9. H
3
PO

4
18O, H

2
O 

OH
18

OH

1 2

3 4
5

6
7

8

9

10

    3 4H PO  
O

   + H
2
O18

10.  S
N
1  :

Me

H Br

Et
(dextro)

   
OH

S 1N


1

  (A) is  (stereoisomer)
..............
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1.  C
2
H

5
OH    C

2
H

5
Cl

    (X)     (Y)

2. (CH
3
)
2
CHCH

2
OH; (CH

3
)
2
C=CH

2
; (CH

3
)
3
COH

       (A)        (B)    (C)

3.

Ph

Ph––C––CH3

Br

Ph H
2
O 

4. HC=CH–CH2 –CH3

Ph

 H
  HC–CH–CH3 –CH3

+

Ph

 ~:H  HC–CH–C3 2 –CH3

+

Ph

H O2

H


 

OH

CHCH–3 2 –C––CH3

Ph

(  2°C+ H H 

3° )

5. C ( )––O  ()  C( )––O  () A HI 

,   B 

O
   HI   

O


H

   I  B

6. CH
3
O– ( )  (C-14 ) (C) 

CHO  CH––CHCHCl3 2 2

14

O

      CHOCH––CHCHCl3 2 2

14

O

            (A)                         (C)

(C)  Cl–  (B) 

CHOCHCH––CH––Cl3 2 2

14

O
(C)

      CHOCHCH––CH3 2 2

14

O

BRAIN STORMING SUBJECTIVE EXERCISE EXERCISE -4(B)ANSWER KEY
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7. CH––CH2 2

O

  6 5 3C H CO H   CH
2
=CH

2
 

1. HBr

2. Mg
   CH

3
CH

2
MgBr

   (B)     (A)

A + B 2H O  CH
3
CH

2
CH

2
CH

2
OH

(C)

8. (A) 

HO CH3

     (B) 

OH

     (C) CHCH––CH3 2

O

9. C
2
 3° C

5 
2° 

C
5 

2° H , C
2
 3° OH ( 18O 

) 

OH
18

OH

2

5

         

O

  +  H
2
O18

10. A, d-  - 
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1. 298 K (RSH) - [ IIT-92]

(A) CO2 (), H2O (g)  SO2 (g) (B) CO2 (g), H2O (g) SO2 (g)

(C) CO2 (), H2O () SO2 (g) (D) CO2 (g), H2O () SO2 ()

2 . C3H6O 2,4 

- [ IIT-93]

(A) CH3 – CH2 – CHO (B) CH3 – CO – CH3

(C) CH2 = CH – CH2OH (D) CH2 = CH – OCH3

3. CHCl3 NaOH 

? [IIT-95]

(A) 
H

O

CCl2
(B) 

OH
CHCl2

(C) 
H

O

CHCl2

OH

(D) 

O
CHCl2

4.  C6H5OCH3 + HI     : [ IIT-95]

(A) C6H5OH + CH3I (B) C6H5I + CH3OH

(C) C6H5CH3 + HOI (D) C6H6 + CH3 OI

5. HCl - [ IIT-97]

F

CH3

OH                 F
CH3

OH
                  

CH3

OH

CH3

Ph OH

     (I)    (II) (III)   (IV)

(A) I > II > III > IV (B) I > III > II > IV

(C) IV > III > II > I (D) IV > III > I > II

6. - [ IIT-98]

(A) HC  CH (B) C6H6 (C) C2H6 (D) CH3OH

7. - [ IIT-98]

(A) (B) p-

(C) (D) 

8. O – CH2  HI - [ IIT-99]

(A) CHI2 (B) CHOH2 (C) I (D) OH

9. - [ IIT-2000]

(A) 
O OH

(B) 
OH

(C) 

O

OH
(D) 

O

OH

 EXERCISE–05 PREVIOUS YEARS QUESTIONS
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10. 1-   2- -                 [IIT-01]

(A) KMnO4 

(B) 

(C) 

(D) H2SO4 

11.  - [ IIT-02]

(A) CH3CH2CH2CH2OH ; (B) CH3CH2CH2CHO ; (C) CH3CH2CH2COOH

(A) A > B > C (B) C > A > B (C) A > C > B (D) C > B > A

12. OH + CHI2 5  
)anhydrous(OHHC

)excess(Na•OHC

52

52  


[ IIT-03]

(A) OCH2 5 (B) I (C) C6H5OC6H5 (D) C2H5OC2H5

13. 1 

: [ IIT-03]

(A) (B) 

(C) (D) 

14. CH3MgBr +   : [ IIT-03]

(A) HO

CHCH2 3

CHCH2 3

CHCH2 3

(B) HO

CH3

CH CH2 3CH2

CHCH2 3

(C) HO

CH3

CHCH2 3

CHCH2 3

(D) HO

CH3

CH3

CH3

15. 2- : [ IIT-04]

(A) 3- -2- (B) 2- -1-

(C) 1- -3- (D) 2- -2-

16. : [ IIT-05]

(A) H3PO4 (B)  HCl 

(C)  HCl / ZnCl2 (D) HBr 

17. t- n- KMnO
4
 

[ IIT-94]

18. 3,3- -2-

[ IIT-96]

19. D(C
8
H

10
O) (Filtrate) 

(E) (C
7
H

6
O

2
) (D) (E) (E) [IIT-96]

20. -t-

(i) (CH
3
)
3
CBr + NaOMe 

(ii) CH
3
Br + tert-BuONa  [IIT- 97]
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21.
CO

O

OH

OHC
   +    

HOCH2

HOCH2

    
Conc.HSO2 4

   (A) [ IIT-97]

22. [IIT -98]

(i) 
OH

H


O CH3

23. o- p-

[ IIT-99]

24. A  B 

CH3

O

O CH18

2 5C  
HO3

+

 A + B [IIT-2000]

25. A 

B HBr 

B 1- -1- (C) A, B B C 

[ IIT-2001]

26. 4- 

[ IIT-2001]

27. X, Y Z Z HBr 

(H
2
C*O) 

BaC*O
3
 + H

2
SO

4
 X (gas)  [C* denotes C14]

CH
2
 = CH – Br 

3

(i )Mg/ ether

( ii ) X, ( iii )H O  Y 4LiAlH Z [IIT-2001]

28. X, LiAlH
4
 21.72% Y Y

X Y Y 

Y [ IIT-2001]

29. 2- (+) 2- 

[ IIT-2003]

30. 3 

OH

  [ IIT-2003]

31.

NO2

    

OH

NO2

[ IIT-2004]

32. P(C
5
H

10
O) H

2
SO

4
 1015 Q 

R Q R P, Q R P 

[ IIT-2004]
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33.

OH

 
H/+ 

 (X) 
1. O3

2. Zn/CHCOOH3

 (Y) 
NaOH

 

O

(X) (Y) [IIT-2004]

34. t- [JEE 2005]

(A) Ph – OH (B) Ph – H (C) (D) 

35. -1: o- p-

-2 : o- [JEE 2007]

(A) 1 2 2 1

(B) 1  2  ; 2 1

(C) 1 , 2

(D) 1 2

36. OCH3

HBr  : [JEE 2010]

(A) OCH  and H3 2
Br (B) Br and CH Br3

(C) Br and CH OH3 (D) OH and CH Br3
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1. (B) 2. (D) 3. (D) 4.(A) 5. (C) 6. (D) 7.(B) 8. (D) 9. (A)

10. (C) 11. (B) 12. (A) 13. (C) 14. (C) 15. (D) 16. (A)

17. n- KMnO
4
 t- C-  H 

CH
3
CH

2
CH

2
CH

2
OH + KMnO

4
   CH

3
CH

2
CH

2
COO OK

 

 + MnO
2
 + KOH

n-              

CH – C – CH + KMnO 3 3 4 No reaction

CH3

OH
t-butanol

18. CH – C – C CH + KMnO 3 3 4 – CH – C – C CH3 3 – CH – CH – C CH3 3 – 

H H

OH :OH

Me Me Me

Me Me Me

H -HO2

..



H




                         1,2-methyl shift

CH – C = C CH3 3 – CH – CH – C CH3 3 – 

Me

Me Me

Me

–H





19. (D) Ph – CH – CH3

OH
(D)

CHCOOH6 5

(E)

20.

R'O  + R – X  R'O  + R – X  Slow   R 'O


 .........R......... X


 Fast  R' – O – R + X
—

3° HX 3° 
1° (b)

21.

O

O

O

O

           23. 

24. A = CH – C – OH,  B=CHO H3 2 5
18

O

25. Mg MeCHO HO3 HBr

Et O2

Br MgBr BrMgOCHMe HOCHMe Br Me

(A) (B) (C)



PREVIOUS YEARS QUESTIONS EXERCISE -5ANSWER KEY
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H –H O2

HOCHMe HOCHMe2 CHMe Br Me

Me Me

2° carbonium 3° carbonium



Br

 



26.

Br

NaOH

high Pr essure


ONa

2 4Me SO


OMe

2 4conc. H SO

OMe

SOH3

NaOH

OMe

ONa

3H O


OMe

OH

Br

2 4conc. H SO

Br

SOH3

NaOH

Br

ONa

2 4Me SO

Br

OMe

NaOH

high Pr essure

OMe

ONa

3H O


OMe

OH

27.
2CO

(X)


  ;   

2CH COOH

(Y)



   ;  
2 2CH CH.CH OH

(Z)



    ;  
2CH O


  R'O  + R – X

28. X = BCl
3
  ;     Y = B

2
H

6

29. CH – C COOH  +  3 – CH – C – COOH3 

H Ph

Ph H

    

(+) CHCH – C – OH3 2 

CH3

H

conc. HSO2 4


( )

CH – C   +  3 – C CH – C – C3  – O – C – CHCH  – O – C – CHCH2 3 2 3

H O OCH3 Ph CH3

Ph H H H

–COOH –OH 
(±) (+) 

30.

OH OH OCOMe

(1) NaOH–CO2

, High P MeCOCl

(2) H Py

COOH COOH


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31. NO2 NO2

NO2

NO2 NO2

OH

NO2

NH2 N NCl

conc. HNO
conc. HSO
75°C

3

2 4

NHSH
or

SnCl  HCl

4

2

NaNO - HCl2

0° - 5° C

HO2



32. (P) CH – CH3 2 – O – C – CH3

CH2

 ; (Q) CH
3
CH

2
OH ; (R) CH – C3  – CH3

O

 H
2
SO

4
 CH

3
CH

2
 P 

CH – CH3 2 – O – C – CH3 CH CH3 2 – O = C – CH3

CH3 CH3

 

33. C CH2

CH3 CH2

O

CH2

CH2

C

H

O

(X) (Y)

34. B 35. D 36. D
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 :

  C O   C O 

  Cn H2nO (n = 1, 2, 3......) 

(a )     C  H

O

 

(b)   (  C O) 



(i)   C O
R

R

(ii)   C O
R

R'
+

Example :  :

 C O
CH3

CH3

 C O
CHCH3 2

CH3

2– 2–

Special Point :
 C OH,

O
..

 C X,

O
..

 C NH,2

O
..

 C OR,

O
..

  C Z

O
..

 

 C

O

 

 (Structure) :

 C O sp2   

2p  C O

 

 C O
C

C

sp2


   C—C—O  H—C—O 120° 

C  O  C O

 C O
 

 


